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F: Output Linearization (OL) data IE87/10B/B87E17FP.DAT in File (F)
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Landoalt-rings W-N

code: background-ring

Picture C4: Landolt-rings W-N; PS operatomw*lin 1.0 exp setgray
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Radial grating (Siemens-star) N-Z Radial grating (Siemens-star) W-Z
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Picture C5: Line raster under 45° (or 135°); PS operattin 1.0 exp setgray
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line raster diameter inIpi

Picture C1: Radia gratings (Siemens-stars) N-W, W-N, N-Z and W-Z; PS oper.w*lin 1.0 exp setgray
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Picture C2: 5 visual equidistabt-grey stepss NO + W1, PS operatorw*lin 1.0 exp setgray
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Picture C6: Line raster under 90° (or 0°); PS operattiin 1.0 exp setgray
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Picture C3: 16 visual equidistalit-grey steps; PS operatav*lin 1.0 exp setgray
-_q_ ISO/IEC-test chart no. 3B according:g)g/
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input: w*lin 1.0 exp setgray
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ISO/IEC 19839-X;output:w* setgray
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